

Lisa Lafferty Events

P0:

Shipping Address:

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description		Qtty	Price		Total
Entrance Faca	des				
	Custom Made Tianas' Secrets Front 30'x16'H	1	\$0.00	Т	\$0.00
The state of the s	New Orleans Facade	1	\$0.00	Т	\$0.00
	New Orleans Facade	1	\$0.00	Т	\$0.00
		Tota	Total Entrance Facades		
20x30 tent					
	Fabric treatment to Drape a 20x30 x 10'Hg legs in Green Moss Sheer Chiffon with Backing	1	\$6,600.00	Т	\$6,600.00
	Custom Made Photo moment space	1	\$0.00	Т	\$0.00
			Total 20x30 tent		\$6,600.00
Eudora Merch	Space				
	Barback - Alcove - 1 Arch Painted in Light wood Color For Merch 8'W x 18"D x 10'H	2	\$840.00	Т	\$1,680.00
	Old school Telephone Prop	1	\$42.00	Т	\$42.00
	Vintage Suit Cases	3	\$204.00	Т	\$612.00
	Vintage Hat boxes	2	\$234.00	Т	\$468.00
	Secretary desk TBD	1	\$312.00	Т	\$312.00
	Silent Valet - Coat stand	1	\$156.00	Т	\$156.00
	Lamp Table	1	\$216.00	Т	\$216.00
	Arm Chair	1	\$222.36	Т	\$222.36
	1920 Floor Lamp	1	\$96.00	Т	\$96.00
	1920 Tiffany Chandeliers Mix and Match	6	\$390.00	Т	\$2,340.00
	Other Props TBD	1	\$0.00	T	\$0.00
		Total E	udora Merch Sp	\$6,144.36	

Description		Qtty	Price		Total
Patio					
	Garden Sofas - Dahlia Gardens - Inverted Sofa Painted. in Green with custom Green cushion in Green back to resemble a Water Lili petal 70"W x 23"L x 41"H - Custom Frame & Cushion Color Upon Request	2	\$660.00	Т	\$1,320.00
	Garden Accent & Coffee Table - Dahlia Gardens - Accent Painted in Green 20"RND x 20"H - Frame Color Upon Request	4	\$132.00	Т	\$528.00
	Garden Benches - Lost Gardens - Porch Bench 45.75"W x 19"D x 40.5"H	2	\$264.00	Т	\$528.00
	Garden Club & Lounge Chairs - Lost Gardens - Club Chair 23.5"W x 19"D x 40.75"H	4	\$198.00	T	\$792.00
	Garden Bistro & Stand Up Tables - Lost Gardens - Bistro 26" Diam x 30"H	4	\$198.00	T	\$792.00
	Garden Dining Chairs - Lost Gardens - Bistro Chair 16.5"W x 19.75"D x 34.5"H	8	\$42.00	T	\$336.00
	Green Fabric with Overlapping Pullbacks to Cover Curved Wall and sides - 120 x 10H	1	\$5,400.00	Т	\$5,400.00
	Green Fabric with overlapping pullbacks to Cover building side 80x 20'H	1	\$5,400.00	T	\$5,400.00
	Custom Made Metal Structure for Activities	2	\$3,600.00	Т	\$7,200.00
	Props- Pink Tattoo Chair Custom Cover In green 2' x 67" x 4'H	1	\$180.00	Т	\$180.00
			Total Patio		\$22,476.00
Inside Ballroom					
	Banquettes - Pasadena - Straight Ivory W/ Skirt 6' Custom Covers in Green 6'W x 39"L x 30"H	4	\$600.00	T	\$2,400.00
	New Banquets L Shape 6' Dining Height	4	\$2,640.00	Т	\$10,560.00
	Small Dining Tables - Paris - Bistro Table W/ Marble Top 24"Diam X 29"H	2	\$180.00	T	\$360.00

Description		Qtty	Price		Total
	Small Dining Tables - Oslo - Bistro Table Brass W/ Marble Top	4	\$240.00	Т	\$960.00
	Square top With Linen in Scallop Green 39.5"Diam x 29.5"H				
	Bistro Chairs in Green and Cream	24	\$24.00	Т	\$576.00
T	Garden Bistro & Stand Up Tables - Jardin Des Tuileries - Stand Up	2	\$240.00	T	\$480.00
	With Custom Table Cloth overlay with Scalops in green 27â™ Diam 40 1/2â™ H				
	Bistro Barstool	8	\$30.00	Т	\$240.00
	Green Fabric to Cover Main Ballroom Walls Aprox 216' x 13'H	1	\$5,400.00	Т	\$5,400.00
	Green Ceiling Treatment Creating Swags to partially Cover Ceiling	1	\$2,402.40	T	\$2,402.40
	Panels - Oval Window Hard Panel 12'h 4'W x 12'H	10	\$480.00	Т	\$4,800.00
	Dj Booth	1	\$600.00	Т	\$600.00
	Custom Made Cover for existing bar	1	\$4,200.00	Т	\$4,200.00
	Coffee Tables - Paris - Gold With White Marble top 36"W x 21"W x 17"h	4	\$216.00	T	\$864.00
	Ottomans - Standard Pod 18"RND x 17"H - Cover Color Upon Request	16	\$36.00	T	\$576.00
		Т	otal Inside Ballro	om	\$34,418.40
Dining Facades					
	Food Facade 18'x12'x 8'H	1	\$0.00	T	\$0.00
	Dessert Facade 10'x12' x 8'H	1	\$0.00	Т	\$0.00
		Total Dining Facades			\$0.00
Please make checks payable to Revelry, Inc.		Total Products:			\$69,638.76
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc: Wear & Tear (6.00%):			\$0.00 \$4,178.33
		v	Packing (3.00	•	\$2,089.16
Notes			Tax	•	\$6,615.68
			Discou	nts:	(\$0.00)
			To	tal:	\$82,521.93

Payments: (\$0.00)

Balance: \$82,521.93